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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given
for answers written in medium other than the authorized one.

Word Himit in questions, wherever specified, should be adhered to.

Graph/illustrations, wherever required, may be drawn/given in the space provided for answering the
question itself.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.
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TUE—H
SECTION—A
Q.1 Frfafem wers v & Tue wor 150 wreat ¥ Afyg
Answer the following in about 150 words each :— 10x5=5¢
Q. 1(a) o= = & seoeRgs (no production) U Tvf Tqgiens qfad= FRIeTTEYT, U
aWWIamz%lmﬁ%mep]ampﬁa%‘Haaf?aawif
AT AT BE) @ wmig @ R AR R sf-frag (wh, w2) T B3 R
TR (wh, wh) 81 A Bl R (cy x3) @ B Rt ww T (xl, x2) T
W%awmaﬁaﬁqﬁﬁ%ﬁqaﬁwﬁ?mﬁ@ww%@ﬁﬁ%ﬁwl
Wwﬁamaﬂﬁﬁ@@%?ﬁ%ww%(seg%gwwm
e g

Consider a perfectly competitive exchange economy with no production, and two different
goods 1 and 2. Let p; and p, be the prices of the goods. The economy is populated by
two people A and B. A’s initial endowment of the two goods is given by (W}v wi‘), and
B’s initial endowment is (wh. w2). A can choose any bundle (x}, x3) and B can choose
any bundle (xé, x%). In this pure exchange economy write out the conditions for a
Walrasian equilibrium. Show that for such an economy for any equilibrium set of prices

that the absolute price level is indeterminate. 10

Q. (b) Wmﬁwmﬁma%%gﬁ@ﬁﬁ%%%&ﬁrﬁaﬁﬁﬁ?ﬁwm
@wﬁmawﬁﬁwﬁrwﬁmwmgﬁﬂmmﬁiﬁﬁ?mﬁmﬁﬁﬁ:%ﬁ
%@WWW@%%W?IWW%WWW%
%%%rwwﬁ%%@wﬁmﬁaﬁw%a%ﬁt%ﬁmwﬁ
Rozar 37 wwer oof w3 2

Kaldor in his theory of distribution argues, unlike Kalecki, that it is not reasonable to
neglect the constraint of labour shortage, and analyse a situation of full employment.
Show how investment and savings propensities determine distributive shares in the Kaldor
approach. Suppose that investment is not exogenous as in Kaldor’s original model but

that it varies with profits. What does this mean for the stability of the Kaldor model of
distribution ? 10

Q. I(c) wufde srefegaeenr ¥ Feqyres @ AT frafoor = gosmed s i
(i) 9% fuifds (i) Wtfew fwify arr Prefg &
Explain the determination of output and employment in a macroeconomy under the conditions

when individuals are subject to (i) no money illusion, (ii) money illusion, 10
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Q. 1(d) @wﬁaﬁwwﬁm%%wﬁvﬁm(mﬁ%ﬁ)@‘www-w

Q. 1{e)

Q. 2(a)

Q. 2(b)

ﬁ%ww%ﬁﬁwwﬁélﬁmﬁaﬁﬁ,wwﬁwﬁﬁaﬁ%m
Tl & UF s wmaﬁ#aﬁﬂw%%sﬂﬁ W gedw e se-wer # R
Ree @ Sl B 1 qAT AR 3q ae @ Wi & Prafcs s 3 2

An individual finds that all his receipts (including income) and payment transactions are
in the form of money that bears no interest, However, he can convert money into bonds

and earn interest income but that involves a fixed cost of each conversion transaction.
What are the determinants of the individual’s demand for holding money ? 10

mﬁﬁn%@e@wﬁrs@meﬁﬁmﬁmﬁﬁf@m%:(i)@ﬁaﬁwgﬁ
W,W%ﬁﬁamﬁ%@w%ﬁaﬁwﬁﬂmwammm%
?;(ii)mwﬁm%ﬂ@ﬁ?fﬁwmtﬁﬁwﬁquma‘faﬁsﬁwmrﬁ
& (i) T v foaw w1 & o & um FLET JRAeAThl T ST B @ F A
%Wﬁﬁmmﬂﬁ?l%ﬂmﬁwaﬂwqﬁ@m%ﬂ@mﬁﬁ
sgfead AR |

Suppose an industry is characterized by the following three conditions : (1) there are a
large number of small firms, each producing a differentiated product and facing a downward
sloping demand curve; (ii) each firm ignores the effects of its actions on the decisions
taken by other firms; and (iii) new firms producing close substitutes for the product of
the existing firms can enter the industry. Then, derive the equilibrium conditions of an
individual firm and of the industry. 10

seu-famar fagofr (Wﬁ)ﬁw—wﬁrwmﬁewwﬁ%aﬁﬁwﬁaaﬂﬁﬁ
ﬁwa@awﬁaﬁw%@ﬁ%%mmm%?

Under Bertrand price competition with homogeneous products in an olj gopoly demonstrate
how is the equilibrium price that will prevail arrived at ? 25

m?ﬁﬁqmﬁﬁm%mﬁwﬁﬁrﬁp:zo_?mﬁmw,aﬁPﬁ@%

HWQ%WWE?IWHW%WRCW%W%W?WT@%,W
INR 2 % Rerx Hisieq emies, s, ¢, =c, = 2| |
W%—W%mﬁw%ﬁwﬁ%wﬁwﬂa@q{wﬁw
71 € ? w & @9 (Profits) T ¥ 7
mﬁsﬁ*mwﬁmﬁwaﬂﬁ%wﬁnﬁ@%ﬁwww
& ? WH B T (Profits) T & ?

Let the market demand curve for carbonated water be given by P= 20_97(2 where P is

the price and Q is the market output. Let there be two firms producing carbonated water,
each with a constant marginal cost of INR 2, or, ¢, =c¢, =2

What is the market equilibrium price and quantity when each firm behaves as a Cournot
duopolist ? What are the firms® profits ?

What is the market equilibrium price and quantity when each firm behaves as a Bertrand
duopolist ? What are the firms® profits ? 25
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Q. 3(a) ww&mw&mm@%mmwaammmm%mammﬁ
Wﬁmﬁﬁﬁﬁ%ﬁm%?mﬁm,m&ﬁﬁwﬁﬁ@%@
W%Wﬂﬁ%ﬁ%ﬁ%%:ﬁﬂ%ﬁ?mﬁwaﬁﬁaﬁﬁﬁﬁawﬁ
ma&fswﬁﬁ?ﬁﬁ@m%%MH%mWﬁﬁ?

If workers supply labour on the basis of an expected real wage, how is the aggregate
supply of output determined in the economy ? Suppose aggregate demand and supply are
below the natural rate of employment and output. Would the New Classical economists
advocate any particular policy intervention when the economy is in such a situation ?
25
Q. 3(b) W%%Waww%?éﬁq—ﬁwwgmm%ﬁﬁu%ﬁ?ﬁumm
ﬁmmwm%@@%mmﬁﬁwmaﬁwmﬁm
SN H B 7
What are the main goals of a central bank ? What are the instruments by which the central

bank manages the liquidity in the financial system and how does it use these instruments
to achieve its goals ? 25

Q. 4(a) AT (commodities), T5T, IvSH TH wW Rovh 5 == RoRmE § e e foar
® ARl & e ¥ Al sefurer g Sumi 2 | AR FuhE & e
W R FEl st S B ¥ 7 deafie sl @ s o Mgk @
Wﬁﬁﬁﬁ%ﬁ%ﬁ—mﬁmﬁﬁﬁﬂ@%w%ﬁmﬁﬁ%m%?
TR AT B3 7 ol 1 S o @ 2 7 aved s R
# Rl ol § o sofieanr BratRe g 2 7
Macroeconomics is usually approached via the outcomes of economic interaction in the
following four markets — commodities, money, bonds, and labour markets. The Classical
economists focused on which three of these four markets ? In which market does the
loanable fund theory of interest rate determination of the Classical economists focus and
how is the interest rate determined ? The Neo Classical synthesis focuses on which three
markets ? In which market is the interest rate primarily determined in the liquidity preference
theory ? 25

Q. 4(b) ¥ 2003 F W 2008 T WG Wl IAF Squfiq sferaeasi 3 R ISl g O
B ¥ T P o B o P R e 8 3 gt @ Preww B 3
Fromerar @ & w3 spfemaenr ¥ 9% qm % waw @1 Y wRG e & 7
After 2003 till 2008 many emerging economies including India received huge capital
inflows. To contain the effect of these flows the central bank sterilized the inflows.
What is sterilization and how does it affect the supply of money in the economy ?

25
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TSt
, SECTION—B
Q.5. Pl % W & SW @ 150 Wl W AR i—
Answer the following in about 150 words each :— 10x5=50
Q. 5(2) e T & dF Al asy T &8 P gw A 3w wahher sme ¥ 39 @gdl S gdivaa
famar o wewar 8 wwar § @dar @ wOd K <ed B 7
What are the three basic goals of public finance ? Can these goals be coordinated into
an overall pattern of policy or are they always in conflict 7 10
Q. 5(b) ¥radserT =T W dor @ A B 7 W I;  wrll W =R W weg €, sww awmi
3w TG e e (W F MU o W UF AW I@EeR W Wi YeR 8w
RRel 3w @ o aw ool Aer #1 s Ror ¥ i WX B s 3w B s o
F DIA-TT A FAEEX B 7 AU TH H T R @ G FRO FT 8 P AN A B
TE QW AW TR YEEH B IS R 8| AUR Bg ledrd gHe HNC |

What is an offer curve in international trade ? For two countries engaged in trade in two
goods, draw the offer curves such that the offer curve of the home country has a section
reflecting inelastic import demand and the foreign country’s offer curve is elastic throughout.
Indicate in your diagram which part of the home country’s offer curve is inelastic. What
is the reason for this shape of the offer curve ? Suppose the home country imposes a tariff
on imports. Demonstrate the implications for trade. 10
Q. 5(c) Twmeia o & frg s Ay & wrerg ¥ o smemErd wd R FREmER

TE a1 gR-ued ffeg) afes #1F-8 9@ @1 gAYT &d 8 7
Summarize the main arguments of the trade optimists and trade pessimists with regard to
trade policy for developing countries. Which argument does the data tend to support ?
10

Q. 5(d) F FRueft ¥ FIFER BX@EY FT GHAT HIAA A HROT FARY |

' State five reasons that support government intervention in agricultural markets. 10
Q. 5(e) AT UE Ram i s dREewar ag P O rensl S gEiRG Se—() &
(Cohort) STHTX AfReed T, (i) SEHATTAT X GATT @1 J97E, TF (iii) IRFeTTT & qoet a4

TEd erer |

Expand on the following three explanations for the Kuznets hypothesis about inequality
and development—(i) the cohort size hypothesis, (ii) the effect of openness on inequality,

and (ii1) the strong versus the weak version of the hypothesis. 10
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Q. 6(a)

Q. 6(b)

77 o 5 groel wygfere s ¥ uw ey Soare 9X yew 4 yew o) % oo @ fraifa
FAT &1 AR Ieem wilfF WA 81 A WER IW FI B AWEER I A god F AEaC
ghs & WY Aifed AW UK HXA B | T GIHR Dl TH TR HC GE BN ST ©
I HEATTER FX TG I UHT & R R F @ UREE Hed W 99 WIS €9 A

F O ST & ¢ U REEE U7 99 F YHe Hivg |

Suppose a given yield of tax is to be obtained from an excise on a particular product in
a perfectly competitive industry. If the objective is economic efficiency the government
would prefer that tax which obtains the desired yield with a lesser increase in the price.
Should the government impose 2 unit tax or an ad valorem tax if the objective is that they
should both impose the same burden at the initial price before the imposition of the

tax 7 Demonstrate your answer with a diagram. 25

oz darT w7 2 7w Wl S Iwime onliE wermar o7 % g WRER g ™
T AT #Y o 3 U TEAE @ Seqdl #INg) t§ B ATUGE B YIS qa
B ow(l -t)H B & S Uit SEYEl s Aasr qH 9% ade w0 R T oW
ST L, ¥ L, aF 9SO T =OfFd & @ o 5 w90 8 ud h O9E twl, B
wF aiitfE mewar & ®Y H U8 aaikd BN S Wt % Hew & P¥ P - S TF HEHW
T A T AN & Q¥ Q, T WM | YR g Wik WEwWl § qeund g v
T B WEIET & GO B WA BB T e & eg & §AT 8 7 Afe Heer |
i wemar AT B TFA B R FEIEAT @ w5 qOH B o FERE =T @ i
HLA] & TUT GEEAl Urge o) IFd G B aeTT i IcAed HAd @ o gEras i
FA & fou 3=ge 2, @ R dam aRvew § R o P ?

What is rent seeking ? Consider a proposal by a government to levy a proportional tax

on income so as to subsidize the consumption of a good. The proportional tax at a rate
t reduces the wage received to w(l — t) which with a standard upward sloping supply of
labour curve will reduce the hours of labour worked from say L, to L. The net income
of the person falls and tax revenue will be twlL,. This is transferred as a subsidy which
reduces the price of the subsidized good from P to P — S and increases the quantity
demanded from Q, to Q,. What is the valuation of the subsidy by the recipient ? Is it
equal to the value of taxes paid to finance the subsidy ? If the tax payer decides to devote
resources to rent seeking to forestall the policy to subsidize the good and the subsidy

recipient is also willing to devote resources to encourage the adop'tion of the policy, who

will have the advantage in the rent seeking context ? 25
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Q. 7(2)

Q. 7(b)

Q. 3(a)

Q. 8(b)

Q. 8(c)

A-BRL-M-FDPA 7

7 o ol Rl ang e @ fAew R Bl aRtees @gaT § 7
gefeqaeat P W oo g woEeiear @@ wd we Rex uRada ax H Srhe #)
apefoaedT O STEW AT TeHAT % M ¥ W 0 W NG € | TEed-diel H OWEU M
Td SN TX WX TOSUEl B URen® g ¥ 7 I U Sged $W W (e s 8 7
I T B GAAUA H TEF A B AFA PN

Suppose the goods, financial, current account and foreign exchange markets are initially
in equilibrium. The economy has low or imperfect capital mobility and operates at a fixed
exchange rate. The economy is subject to a favourable demand shock that raises expenditure.
What is the outcome of the shock on the aggregate income and interest rate in the short-
run ? How is the balance of payments equilibrium achieved ? Draw a diagram in support
of your answer. 25
gmwzﬂmwww%?mﬁﬁ%amwﬁwﬁﬁwaﬁ%@
T F Reroneid gate siie iy &1 STE F% W 2| §OhR aWe el 9
ST 2, S e e wem ¥ i @ @ ) o $Y uE wweqyl sferawn
i B O o1 v e e =l o o 3 T

What is a speculative attack on a currency ? Suppose the economy has a fixed exchange
rate and the government is following an expansionary macroeconomic policy. The government
increases the budget deficit which it finances through a monetary expansion. How does
this lead to a crisis ? What is the timing of the speculative attack ? 23
T SR sderaren  ww g A sefaera ¥ drEers uRadT @ dled wwd
I Tee HIWY| AT AT BOUHE A SEEAE PR |

Explain the Lewis model of structural change from an agricultural economy to a modern

industrial economy. State three major criticisms of the Lewis model. 20
T FRE 2 5 2s-Sr wise A up Rfmer Y B R defe & frg o sieleuaen
Haf g9l ® g WX STH &9 ¥ Wi el 21 S-S HIST W TST HT
w T e @ wrer S aanRd |

It is said that a characteristic of the Harrod-Domar model is that even for the long run
the economy is at best balanced on a knife-edge of equilibrium growth. Explain the
Harrod-Domar model and the reason for this characteristic. ' 15
sty TR & Rewwe-diedE wed @ @ ygw frews wmn g P M-l Aremans
# JUR X IF AN HeEe g7

What are the two key conclusions of the Heckscher-Ohlin model of international trade ?

Under what assumptions are these conclusions arrived at ? 15
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Question Paper Specific Instructions
Please read each of the following instructions carefully before aftemnpting questions :
There are EIGHT questwns dwtded in TWO SECTIONS and prmted both in HINDI aud in
ENGLISH.
Candidate has to attempt FIVE questwns in all
Questions no. 1 and 5 are compulsory and out of the remammg, TIH{EE are to be attempted
choosmg at least ONE from each section.
The number. of marks carried by a question [ part is Lndzcated against i,
Answers must be written in the medium authorized in the Admission Certificate which. must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space pmutded No
marks will be given for answers written in a medium other. than the authonzed one.

Word limit in questions, wherever speczﬁed should be adhered to.

Graph/illustrations, wherever requ:.red may be drawnlgwen in the space promded for answenng"
the question itself.

Attempts of questions shall be counted in chronological order Unless struck oﬁ" attempt of a -’

question shall be counted even if attempted partly. Any page or portion of the page left blank in the

Questwn cum-Answer Booklet must be clearly struck off.
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- @WIgA
SECTION A

QL ﬁw\%lﬁaaﬁ%maﬂmwmmwffaﬁﬁq |
Answer the following in about 150 words each : " 10%5=50.

(a) uﬁwmw%ﬁm m@tm(uﬁ)%ﬁmaﬁ%ﬁ%ﬁamuaﬂ
wteror i |

Examine the relationship between own and cross price elast1c1t1es for a
compensated demand function. - : o ‘ 10

) T Y ) T i |
- Explain H-theory of money supply. ' 10
(o) orioEE H, wﬁwﬁmg@%@ aﬂﬁmaﬂxvﬁmﬁﬂm
v 3 e v B

Differentiate between the complete, partial and zero crowding out effect
of a given increase in government expenditure in an economy. 10

@ R i e ¥ sl i SR ¥ e A g 7
_Waﬁaﬁ@@mﬁvﬂwmmmaﬂtqﬁaﬁ%ﬁﬁ
3R gt & |

"What do you mean by e:ustence and uniqueness of equﬂlbrlum ina
market ? Examine these concepts in a market where both demand and

supply curves are downward sloping. - L 10
(e) ol < fianmd i T HivT | | -
Explain the paradox of thrift. o 10

Q2. (a) WWWWWW%W(W)WW@
ﬁmtmﬁ@nmmmmaﬂtﬁaﬁﬁﬁﬁm |
fofcwdi e o S
Discuss the cobweb model of dyna:mc equlllbrmm with lagged

-adjustment. Explain how the existence of a stable equilibrium depends
on the nature of the demand and supply curves. - : 20

- (b) Wﬁm%ﬁmwﬁﬂﬂﬁ@%sﬁﬁwﬁﬁﬁw%ﬁ
o1 faerper off TewEd A} 7 e wwdw g SR W
ﬁaﬁ%tﬂéﬂﬁﬁmw%?

“Monetarists are of the view that only money matters and Keynesians
_believe that money does not matter at all.” What is the reasomng behind
these extreme views he]d by their protagonists ? .20
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(V)

Q3- (a) M

g YHT P IR F IS § G B TR 2

What do you understand by shlftmg of a tax 2 How does a monopolist
succeed in shiﬂ;ing the burden of a ta'x under increasing marginal cost ?

'maﬂ%mmﬁwmﬁévaﬁmxﬁnmm%m@ﬁ%mﬂ' |

10 .

20

20 |

- 10

20

10

aﬁ@’r%;mwnﬁ maﬁmmﬁ%ﬁmﬁﬂmﬁmaﬁzma
e % fufon @ wgfa ofeddd & oo w1
" Explain with appropnate assumptions, the detenmnatwn of equilibrium
income and interest rate in a Keynes:an model of ‘goods and money
markets through diagrams..
(b) ﬂwﬁﬁwﬁ.&mww@%mmqﬂmm‘_t_m e
A f w1 Frowon frm gow fnar o g 2 2
" Examine the process of reachmg the Ricardian steady state. How can
the tendency towards steady state be countered ?- .
© "%ﬁma@waﬁméaﬂt@%ﬁ%mme
e g, ?ﬁgwm(am) a&aﬁtﬂwmm%ﬁwmam
2”7 e A 1 4
“The conyentional analysis of profit’ max1m15at10n ‘breaks’ down if the
‘entrepreneur sells his output and possesses a productlon function which
.is homogenous of degree one.” Explain.
Q4. @ ww"ﬁmw%mwﬁﬁq :wé?%zaﬁzéﬁzmﬁ%a it
IEM Y G TE RBAWE AL ?
Compare the deposit multiplier with money mu]tlpher Is there any
impact on money multlpher arising out' of massive use of credit and .
_ debitcards? -
) - mﬁmaﬂtmmmaﬁq@@ﬁﬁmm%ﬁﬁam&aﬁ
- STy
Compare the various mstruments of monetary pohcy with reSpect to -
influencing the cost and availability of credit. - © w20
© T foem 6 51 Pt (veew) 2, W ==t DR 1
" Discuss the classical dichotomy that money is neutral.
C-DRN-N-GDPA _ : 3 -



Q5. ﬁmﬁ%ﬁﬁﬁmﬁmmw 1503@1}1-‘;‘1@
" Answer the followmg in about 150 words each :

'(aj,

®)

(c)

{d)
(e)

Q6. (a)

Wig B
SECTIONB

‘FHE TF@T Eﬁrwmim%?%sﬁtrg%m g R aﬂ?ﬁ%#i@

- forg T e i R 7 .
What is meant by ‘factor abundance’ ? How does it affect the shape of

the production frontier of a natmn ?

% ferean foma s wehatl 3 2 ToE AR )

Can Kuznéts' hypothesis of- inverted-U curve be ext,ended to
envuonmental degradatmn ? Explain. :

e ﬁtmaﬁm%aﬁﬁ aggﬁaeiaamnamwwsﬁ%?

What do you understand by a small open economy in the cont.ext of both
goods and money markets ?

VWWWWSH‘TT} maﬁaﬁ%ﬁiﬁm (PPP)a?crﬂﬁ

arafs fidl 61 gen & for, sifes Tl v e |

Point out the critical elements in typical Pubhc-Private Partnership.

(PPP) agreements in the infrastructure pro;ects to safeguard the
interests of the public.:

fordl 2 29 g, Y IR W, wﬁmaﬁ@m%wﬁaﬁﬁa%%.

AifTer TreTaee w1 faveror ifer

Analyse the partial equilibrium effects of a tariff 1mposed by a large
country on its imports in terms of consumers’ surplus.

“sgusfia SR awial & A 9w F o W % I, AR e FW,

A T SR Gt B ¥R T 3 T 8 A AR , mRe
UK R (RTAs), wﬂ'c:r{%shﬁ @Wmﬁ%mﬁm%{m

’%l”maﬁﬁm

“With the Doha Round of multﬂateral trade talks stalled, reglonal trade
'agreements (RTAs) have emerged as an alternative approach to increase
trade, spur stronger economic growth and lower unemployment rates in

 the participating countries.” Explain.

C-DRN-N-GDPA g

10x5-50 ‘

10

T YR, aﬁsﬁ%‘gaﬁ-ﬁﬁzﬂaﬁqﬁwmwmvﬁaﬁnﬂm_'

10

10

10

10

26



b)  “Pm % weu % w0 ¥, Frew 1 dgi Fafs TR & R, 7 e agem
i e Sifim win % oft SET B aEE € 17 o AR F T T T
_ ﬁﬁ%ﬂéﬁﬁ%%ﬁmﬁzﬁaﬁm%ﬁaﬁﬁmﬂmmsﬁ
'ﬁaﬁ%mﬁ%mﬁsmmaﬁﬁaﬁm%mﬁzl

“Balanced growth strategy of development in terms of pattern of
investment has to be in conformlty not only with derived demands but
final demands as well.” Argue whether this statement is about avoiding
bottlenecks- for- certain- sectors and - excess capdcities in others or

. promoting import substitution. ' a o 20

(c) a%amawﬁq%mﬁ ga:rrqa;amaaméﬁ auﬁ%%mqy{
ﬁﬁww@m|meﬁﬁq%aé¥ﬁ maﬂtq\%ﬁ é:f%mamzﬁuﬁi
ﬁémﬁmww% |

. Y qﬁ:
e (form)/m e 06 03
H ()M . 04 - 02

waa@%mmmﬂwaﬂa@'ﬂ ﬂﬁﬁhﬂ’lwmﬁ
ﬁwﬁs‘rﬂw'{yf@mmqﬁl '

Explain the conditions under which complete specialisation will be
- possible for two nations in case of compa:"ative advé\ntage Suppose
productmty per unit of labour for two nations, Indm and UK, is glven as

‘India- UK
Wheat (kglmanhour 06 . 03

Cloth (yardYmanhour . | 04 - 02

Will mutually’ beneficial trade be poss1b1e for the two nations ? If yes,
explain whether specialisation. shall be complet.e or not.. : _ 10.

. C-DRN-N-GDPA R . 5



Q7. (a}

(b)

(0

Q8. (a)

(b)

(c)

ww%%%mﬁmﬁﬁwmmﬂﬁ%&ﬂgﬁw%gm

e 3R g o P T sl B # 2 o g o ol R f feeh

TE1 SFAR WG A WA s gy
Why is it that in a pure flexible exchange rate system, foreign exchange

market has no direct effects on the monetary base and money supply ?

' Does this méan that the foreign exchange market has no effect on the

monetary policy 7 : .
SR 6 T 3R Rewre e ¥ 9 e ifvu | wwee i i
a@mﬁmﬁﬁwmﬁmm%mmm
Distinguish between single and double factor terms of trade. Explain
how far terms of trade of a developing économy would change with

. technological advancement and economic growth.

20

20

wll R W ® GaaT, e wed’ ofi ‘ol d@afe Fw A

i fn R |7 3 A e TR W e @ TR R 2

TP S % v e AR ) R

_ Our development strétegy has been proposed in terms of ‘faster’, ‘more

inclusive’ and ‘sustainable’ growth. Do the three components sit together.
well ? Argue for your-answer. '

e e gEEE (HDD) % Futo ¥ fe 1@ A d. (UNDP) g R

10

fpu o T fofir e 1 ao iR | o @ R R, e

3, e weiew Saw SR sRs o w @ ew] R S E 2

Describe the different indicators that are used by UNDP to construct the

Human Dévelopment Index (HDI). Why is a logarithmic transformation

. applied only to per capita income in the calculation of HDI ? |
“agga frm 30§ T & e, e o e & R
W@'Wﬁwﬁ%mmﬁﬁm‘m'm%]”wm L

“Apart from bringing capital into a country, multinational corporations

" provide many other advantages that cannot be obtained by borrowing -

from international capital market.” Discuss. ~ = '
fivs TR GE (WTO) % ST S fEw 3l (TRIMs) 9 &2
£ | 39% Ty § FLE T R WM R E?

‘Explain  the Trade Related Investment Measures (TRIMs) of World

Trade Organisation (WTO). What are the major debates relating to it ?

© . C-DRN-N-GDPA .- 8
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ECONOMICS (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
ch6osing at least ONE question from each Section.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1. M

(@)

(b)

©

IV' CAREERINDIA

TsHig— A / SECTION—A

i(l 33 Trdft TO WFT 150 STsft 3
Answer the following questions in about 150 words each :

zrn sfo xgm % %to n n

Explain the backward sloping supply curve of labour as a choice between
income and leisure.

YicRIftcI % SRFfa, ¢TAFTcT 3, 4m « hooa to $ (MWTR?
ATTO, §1 sfo (/™ % ATMrSr % 3 MTT3E qft *Tfc?
Under perfect competition, in the short run, find out graphically, without using
average cost curve, the conditions in equilibrium for the existence of (i) normal
profit, (ii) supernormal profit and (iii) loss.

sftfq % to? avn wrnn-w$fe$ NN to
State Okun’s law and find out the expectations-augmented Phillips curve.

% fcR #1 WT5T ¢ 3 eft apraitt % Mcpftn % ITU cfTRTte
TT$q 3rgit (*fto TPO tito) A ~S[ATR WIL Wt fI” W I W IW i
“If the interest elasticity of demand for money is low, the monetarists could
predict the real GNP simply by the -use of money supply.” Explain this
statement.

NN n 'sm”N A wftfci
(io ™o 3MJo) ~ A IR TWfec! f?
Explain repo rate and reverse repo rate. How do changes in the repo rate affect
EMIs of borrowers?

sm %ch to 3 witt ™ 1?
In what way Kaldor’s model of income distribution is basically a Keynesian
theory?

V12 to 31OT$ 3frMltef(i (aifMATFfAR) "FIK ~ 2 N
wftfcfo w~-M ?2n N ¥rfti °ft m\'m wi 11

Explain ‘how Nash equilibrium provides a solution to the problem of strategic
interdependence among firms in an oligopolistic market.

yicip? (w ™ r) wm % w 3 ~vk tot t?
W 3 ~rre £ 2

How is Kaldor-Hicks compensation principle an improvement over Pareto
optimality criterion? What are Scitovsky’s views in this regard?

c-?rat-©-5firpfl/3o0 2

10x5=50

20

20

10



IV' CAREERINDIA

3. (a) ifrfsfr MifcT #fte ~
~NOWETM 3 A N TO MR
"Under rational expectations hypothesis, systematic monetary policy will be
ineffective.” Explain this statement using a suitable model. 20

(b) 3 3#H% N tFTTIt % 3TN % Wen 3FH~  3TRANIf
IKA N LN
Show that liquidity preference is neither necessary nor sufficient for the
existence of involuntary unemployment in Keynesian system. 20

() 'p srrjft % ~ SK”N  wr % n
N
Derive money multiplier when a part of money supply is exogenous and the
other part is endogenous. 10

4. (a) 3 ffeTC TpOHfrfcl ~ 3rTiey fg; % N
T (in/ (NK A ~ WRAN
In the event of persistent inflation in an economy, what changes the Central
Bank will bring about in (i) reserve ratios, (ii) bank rate and (Hi) open market
operations? 20
(b) “wfaM % SIfeRSfl TR tRTr™ $\I ~UrHch ~ A i Y N OATIAT
HKef % % W\ 3~/ w W
“Subsidies have both positive and negative impacts on the economy.” Explain
this statement and illustrate youranswer with Indian experience. 20

() twm A\ n 3 % "gsa m a*f 3k -&{$\ B ifei N
Explain the meaning and significance of money illusion on the part of workers
in the Keynesian theory of employment. 10

—B / SECTION—B
5. M ira 333~ TO WMA 150~ t[ NPT :

Answer the following questions in about 150 words each : 10x5=50

@ w 3tn t n n
|? 3TA3tR %~ 3 CT$
Do you think that the root of Harrod’'s instability problem lies in the
assumption of wage-price rigidity? Give arguments in favour of your answer.

(b).  ‘feHaTFEM ~m %? WTK N t&Wm 9N ~ ~efl |2
What is ‘immiserizing growth'? How can it be prevented through trade policy
interventions?

c-?raz.-©-jrtrOfl/30 3 [P.T.O.



IV' CAREERINDIA

© ATNR A 3 to 37R WATT TOT |?
How does carbon trading help in reducing environmental degradation?

(dy foaft gsa %oirfft oo fft %oAtetre'shr M otoow Nosmfera
Ret 17?
How do depreciation and appreciation in the external value of a currency
impact a country’s balance of payments?

e 3XK 3RRyfcTeT TorftM ~of,
™~ W ~ TO
“Balanced and unbalanced growth strategies are not substitutes but
complementary to each other.” Explain this statement.

(@ iI\-*n 3, wttc N crtt tor
AT 3EE UR
In the context of a two-country model, derive foreign trade multiplier and
explain its working. What will be its repercussion? 20
b Thtom IR 3nfe m 3 Nt A N N ™Mnr. fare 3
AMR m "SfethT Slerlel 1?2 TrR % <*>K¢ Mt~ cl

Distinguish between Monetary union and Economic union. Do the proliferating
trading blocks adversely affect the free trade in the world? Give reasons for

your answer. 20
(c) tercralta "rif % ~rfMWi % tot affi At ftM o 1?
What are the advantages and disadvantages of capital mobility for developing
countries? 10
(@ afa N?fk R tfitfrcr f, cR N Ict-srtct™
("3TcT-"r Tmrte ih” ~ w Nt

“As long as the substitution possibilities between foreign and domestic
resources are limited, the dual-gap analysis is relevant.” Critically examine this

statement. 20
b ~ 37s\sn 3, fa, sn, N --P N fa aa 4k tera (stro™ ~D

fa f,n N wftett 3 M™\ 4dkww 'mm ~ 2N AN AN

ATI 3TTAra | K 3fcT. ozrfrf) ~ T A M Mt~ 3 ATT 3TWm 11

In an economy having two sectors, namely, goods-producing sector and
Research and Development (R & D) sector, prove with the help of new growth
theory that (i) both capital and aggregate output must grow at the same rate

and (ii) per capitaoutputmust grow at the rate ofgrowth of technology. 20
© riwfers TOT 1?2 w 3T0 ~ATTJ % 3TTf?fo 3 TITO aft ~TR to 3I3TR
WfsfcTTcr UTAI fol

What is indicative planning? In this context, explain how State and markets
can play asynergetic role ineconomicdevelopment. 10



IV' CAREERINDIA

8. (a) Sfeniwi (#1 ~ 3m ot 1?7 own fa w N u$to sm
3 fas w r *wip]lg fa*n ~t 9
What do you mean by ‘green accounting*? Discuss how this concept can be
incorporated in national income accounting. 10
(b) NN wrftm ~tr vE\ 3 (% #)
wisr! ~ 'm

Discuss the role of renewable energy resources in order to maintain

environmental sustainability with special reference to India. 20
(c) crm-ffe N % to afo % to 3 ffe ~fti” 3 Wfa
cFTCHfe n fa™ *n 3RK?gto MTSft gft™"T

“Global warming will certainly increase the cry of the earth and the cry
of the poor.* In this context, examine the international efforts to reduce
global warming. 20

c-mz-e-tfB-m/so 5 SB6—400
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ECONOMICS (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A / SECTION—A

1. Fefafag 3 ¥ y8® T4 H SW AT 150 Y8l 7 N

Answer the following questions in about 150 words each :

(a) ISR Fger ol uiRld b dreitd Y fRear g w AR | @ e wEe § T Al g
oftfa fRrar 1 fRufd seavaes w9 A Teww 6 fera @it 1 ghfta s @ o) 6 foda

ferfa # oft Yo & S ®7 =@ Fifsg)

State Marshallian and Walrasian stability condition of market equilibrium. Do
you think that existence of Marshallian stability necessarily ensures Walrasian

stability and vice versa? Explain.

(b) = i g Fa R F FE i)
State Bain’s limit price theory.

(c) Yart & weEa ¥ fwa 6t 9% REd = we A
Explain kinked demand curve theory with the help of diagram.

10x5=50

(d) FERR AGo THo 3R FLATR Telo THo Thi % TeRhNE 3R Hiser Ffeared =0 2 &7
What are the fiscal and monetary implications of vertical IS and vertical LM

curves?

(e) Tommon F wieeR T Hoeh AR w1 whgw i)
Examine Kaldor and Kalecki theory of distribution.

2. (@) ‘74 wfyen wniE-sdwE % A 3 it R wh s 9% geEredl 6 fRld w5

glarem = & &) == hifsg

“The advent of New Classical Macro-economics has tended to upset the apple-
cart of Keynesian and to a great extent, that of the Monetarists.” Discuss.

(b) Tosmd gfaen o S wmmEEen w fafau)

Write on Prisoners’ dilemma and Nash equilibrium.

(c) Fz1 = i R F el % QiR 1 wikm quia hifse qun aefenl afEmn REd |

THeh] AT/ TEIHAT Sdigl |

Discuss in brief Friedman’s restatement of the quantity theory of money and

find its similarity/difference with the classical quantity theory.

3. (a) wemm-Hafta R 9% % GEER @ T9-hEE SurH § R R

Distinguish between Monetarist

and Neo-Keynesian

expectation-augmented Phillips curve.

approaches

to

20

15

15

20

IRN-ESC-U-ERIAR /26 2




(b) N MIRG S IR §8 ISR AdaEdl § gREHIT W YRR HE S il fif w5 ge
%1 g1 =1fee? Faw e enfdE wafe | sok gl i swizy)

Should inflation targeting be main plank of monetary policy of a central bank
in emerging market economies like India? Show its implications on investment
and growth. 15

(c) THA SR ¥ 1 qad 87 THH Hohad IR DA bl 9T SRRT 77 AHERT
What is a Lemon Market? What is the role of signalling and screening in it?
Explain. 15

4. (a) e GEA R AN 27 98 FFE weEr ufed TR v aER srewerar it fedfa Scaw S weRdt
37 T hifvm)

What is asymmetric information? How could 1t lead to adverse selection and
market failure? Discuss. 20

(b) WIHfGH GETEE &7 % g A AfeeR wfeufs A sm@umon f =ren Hifsg)

Illustrate the notion of perverse subsidy in the context of natural resource
sector. 15

(c) THel srdcaamen & fow@ WA H A 09 % Y§TEl 61 &0 i)

Examine the effects of public expenditure on the development process of an
economy. : 15

@Wuvs—B / SECTION—B

5. frefafas & & I® T H IW @ 150 veE § 9T
Answer the following questions in about 150 words each : 10x5=50

(@) H=R-ILANT TH ATANH-IA 6 o= fade g F:a1 are dovR-3Alfor Jisd ATINH-3em
6 AT T THA /7 <= IS

Differentiate between inter-industry and Intra-industry trade. Can standard
H-O model explain intra-industry trade? Discuss.

(b) TaRsht youer FRw 6 sfm i Ghaqar B i s i)
Explain Dunning’s eclectic theory of FDI.

(c) ST ST9R & SEl-310 & A=INeH-3e Aled ! AR wHifIg |
Explain Brander-Krugman model of intra-industry trade in an oligopolistic
market.

(d) FoZE h Fwitd g el ) HwEy ) F wgie e % Ty fede Bt &7 samu)

Explain Kuznets’ inverted ‘U’ hypothesis. Is growth good for the poor? Explain.
(e) T gt & e wafe, s wafe A 9 o It 87 fod=mn i)

Under what conditions economic growth reduces employment growth?
Discuss.-

IN-ESC-U-LERITY/26 3 [RsT@:



6. (aj

(b)

(c)

(b)

()

(b)

(c)

@%%wwﬁmﬁﬁﬁm,ﬁﬁaﬁa&wm@wmwéﬁmwﬁeﬁmm
99 % YRS Hod Hid Aih IUERT 1 IR TR OIW el B

Describe the growth path, which once the economy attains it, will give a higher
level of per capita consumption than any other growth path for all time.

“YSfigH & A AR e T wed & anataes Aeel R d wH ofR ESh % At
fdthel H iy FTE1 R | AAIHN A= TR S AR Aol @ A 9iE At gef
gfiee # &t A 1 HHms

“Technical progress in capital-intensive sector almost invariably reduces the
real wage rate and increases the real return to capital. Technical progress in
labour-intensive sector will lead to increase in real wage rate and decrease in
the real return to capital.” Explain.

o Tkl refegasan # wfebife & g2 W fova =R @en # w0 iy 27 e it

What is’ the stalemate in the WTO about subsidies in less-developed
economies? Discuss.

"8 e Toh B Wl @ o6 Fata-erfima wafs Sm % =R vl S wfse 2 or6: 3w % fg
fee 7€ &, 98 I % wed ® A 6 SR Wi & el #, @ dan R) wE A

“The argument that export-biased growth may turn the terms of trade
unfavourable to the country and hence may not be beneficial, is applicable in
the case of a large country and not a small country.” Explain.

S -@Wﬁm%%@aﬁm&w%w%ﬁﬁwﬁmﬁaﬁﬁmww
Hger b =k WY-w gRehf] @ Ss &6 6 ged § Hifva game AR
With the help of Salter-Swan diagram, define the zones of disequilibrium and

assign policy prescriptions for the situations pertaining to unemployment and
inflation vis-a-vis BOP deficit.

Heqfaehrd il & TR 8g ARa=EH & =Had s 5o e 1 fHe=m Hifvm)

To counteract under-development stagnation, discuss Leibenstein’s critical
minimum effort theory.

WIAH-Hger SHIENH & oIl 3R Sauiyvr 3qrm 1 87 foe=m hifvm)
What are the elasticity and absorption approaches to BOP adjustment?
Discuss.

V- HTE SUREAT HN T (Fen) ¥ i ey (Sguv-med) ¥ fan sreferawen
(Tereset) <l HIAT q YR 81 STl @ 56 ST Aindl <l el 3™ a1 SIHT-ER 37
H YH:9g90 ! el o a1 99 s &1 s i

“Pollution-income progression of agrarian communities (clean) to industrial
economies (pollution intensive) to service economies (cleaner) would appear to

be false if pollution increases again at the end due to higher levels of income
and consumption of the people at large.” Discuss.

wIE ¥ i feE wied # R B T w w AR

Indicate the Ricardo legacy which is inherent in the Lewis model of economic
development.

b & &

20

1S

15

20

20

10

20

15

15
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HIEAH 1 T ool YT-HE-IwR (F,81.1.) gfedent & qags « ffde wam = frar s =nfeu |
Seatflad ATy & srfafics e forat e § for@ 10 SR ) #E 3iw Aet e |
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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be attempted choosing
at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will
be given for answers written in medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for answering the
question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.

s 5 sth-p-econ



WUE ‘A’  SECTION ‘A’
1. frmfoafaa & & Wi WsH &1 IR WHT 150 veer § Gt -

Answer the following questions. in about 150 words : 10x5=50

1.(a)  HiE-TEE Ieared Hord & g framsie w & o faear 9w @ Fow il |

Derive the expansion path for a firm operating with the Cobb-Douglas Production
Function. 10

1.(b) ‘ol SRERET % smwia W caeR R @A @ e 3 e
THIfUFR AT sifofa Tl wdl @ |7 =Amen Hif |

“Under monopolistic competition a firm enjoys monopoly power without enjoying
monopoly profit.” — Explain. 10

1.(c) aaﬁq%nﬁaﬁﬁa%ﬁmo@ﬁw@mﬁﬁwﬁu%ﬁm'
Bl ® |

Show that in the complete Keynesian model only fiscal policy is effective during
a period of depression. 10

1.(d) Wﬁﬁ%wwﬁww&ﬁﬁmmm%ﬁ@a}%
= FR H T HT |

Explain the difference between the assumptions of New Classical and the New

: Keynesian approaches in managing individuals and markets. 10
1.(e) Tufey for qof IewR Fenferehl wwfy wreer o1 aifdher fod €ar € |

Show that full employment is the logical conclusion of the Classical macro model.

: 10

2.(a) wﬁawﬁw%mﬁ@waﬁmmﬁﬁ%mmaﬁ

Tt 17 feodt Hifirg |

“Pareto optimality conditions are nccessary but not sufficient conditions for social
welfare maximisation.” Comment. 15

2.(b) o aRkferkmel w "aw § == dife, S s sE gt st S oagE
3T ? | |

Discuss briefly the circumstances where fiscal expansion leads to full crowding
out. 15

2.(c) wﬁﬁq%mﬁa@ﬁqﬁ@ﬁﬁawﬁ afe wifgs ot s B 9,
ﬁwﬁmw&aﬁwﬁwmmaﬁ?wﬁmm@mmqﬁaﬁh
B |

Explain how the equilibrium employment and real wage would change in a typically
classical model if, in the event of increase in supply of labour, money wage
becomes rigid. 20

3.(a) WAl & WAL AT Al hT e H, Wﬁﬁtoﬂgaﬁmwmﬁwﬁazﬁq
Faxfor forg woR AeHEg fana @ &1 e akd § 7

How Chamberlin uses planned sales curve to explain equilibrium of a ﬁrm and
group when the entry of firms is permitted ' ok 15

sth-p-econ 2




ke

3.(b)

3.(c)

4.(2)
4.(b)

4.(c)

5.(a)
5.(b)
5.(c)
5.(d)
5.(ej

6.(a)

WQHH&W%%%@W%WW%WWWﬁﬁWWI
5T Toreh Ragid &1 FENT Fd g¢ T8 gl 6l i TR 98y a1 aveia wATE Y ATt
EE

Demonetisation is expected to result in a fall in the ratio of currency to deposit.
Using the money multiplier theory explain its possible impact on supply of
money. : 15

1 &R 2 T ey g1 9ff v www o # 9= wewwr ) e a)a 7 @
g% gEGT O1 qShiNaTeal & = drefadrg o1 GHTE Hal § ?

Why do you expect a high correlation between the money supply and aggregate

expenditure ? Does this resolve the monetarist-fiscalist debate ? 20
facita @ @1 B ® ? 3@ go IRl F1 Sed@ dhifsg |
What is financial repression ? Mention some of its consequences. 15

“qgr & foau d-e Wit ged = ) & WNE A=eE qe o @ 17 ==t il |

“Transaction demand for money is not always interest rate inelastic.” Discuss. 15

Tl UA o5 hl Gl W hiEAE! AR AR gAE b gui & fow o = wifew
Ffirrdat @t wase fifv |

Explain the Keynesian and classical extreme monetary assumptions for showing
their effects on the slope of the LM curve. 20

@UE ‘B’ SECTION ‘B’
frrafofaa & @ wls s o1 SR T 150 el # @

Answer the following questions in about 150 words each : 10x5=50
Tt 3R fieE aR-9R & &= Ag IR |
Distinguish between effective and differential tax incidence. 10
AR % Tocd Aed R aie oot fifaw |
Write a short note on gravity model of trade. 10
TEQTE 95k <hl GEEdl 8 Rl QY % gEaw uyes o fraier fifsg |

- Determine optimum tariff of a country with the help of offer curve. 10
rer-safie’ F@r 8 7 zae wn fafeaef € 7
What is ‘solow-residual’ 7 What are its implications ? 10

ARG & fou “feg’ & swarta, S=u fiem & =R & Far ffeard € 2

What are the implications of tradc in higher education under GATS for India ? = 10
“fopet ARG @ FHEFET WYEE o IR U STITGH UNTE SHEST AT ok g drEt
o R wed 2 17 faemen difsg |

“The consumption and production effects of a tariff for a commodity depend on the
elasticities of demand and supply respectively.” Discuss. 15

3 sth-p-econ
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6.(b) “fer fafma o woet & swwrta, R sefarden @ e g el #
HUR e § Fead Y o § Hifgew Gg=d deak e giar ¢ || samen i |

“Monetary Contraction is a better option than devaluation to improve balance of
payments position of a developing economy under fixed exchange rate system.”
Discuss. 15

6.(c) 1 A 38 TR @ agua § for fasg =R wen (S=g.21.30.) & i Heh AT
& wia sifq s qarfy ) 2 7 3 ST & UE W IR A AR Sy |

Do you agree with the view that the honeymoon with free trade under W.T.O. is at
an end ? Give reasons for your answer. 20

7.(a) W%Qﬁdlﬂl(ﬁdﬂlﬂldl%ﬁeﬁaﬁﬂﬁq\w Wﬁwﬁ@?ﬁ%lw
# ‘e o s fafemtor 4 sxae & fog agfaam &1 smame S smasas § | S
9,09, SR & WG WRA 98 H I gE o a9 0 HFIHI b a1 9 H#T T
e ?

Petroleum is sold in the world market and priced in US dollars. RISCO in India

must import petroleum to use it in its manufacturing. How are its profit affected
when Indian rupee depreciates against the US dollar ? 15

7.b) T & FE¥EAT WA & HUA SFIfvig sk wmen Fifee | s Ferr &
siftrearawr & forw A9 e fFg goR ananes & € ?

State and discuss Arrow Imp0551b111ty theorem. How does Sen modify it for social

welfare maximisation ? : I:5
7.(c) TR fF wfa-wvem Saed wod fod 1@ 20 QFl A qeRd qEArhl W @l

wefifa &t 2 |

Show that Cobb-Douglas Production Function exhibits both Hicks and Harrod

neutral technical progress. 20

8.(a) “arfefer sifafYeaarat & ufoier # anffes faema @1 We=AA (Hirschman) &1 S9WH
dftreh el @ |7 faeEn i |

“In view of economic uncerta1nt1es Hirschman approach to economic development
makes more sense.” Discuss. 15

8.(b) “qgfecer U R ¥ AT TR-TEEE (38-3TF) @ @weE s | @ e
arar @ 1”7 A Seayg R § e & afefa & dedf § w8 wum W ferooit it |

“The trade-off between environment and development remains unresolved.”
Comment in view of the United States exiting from Paris Climate Agreement. 15

8.(c)  HTARE WIESITeh U & Iouel B dlcll S dIG! STEAT hl qHedn i =amen i |

Discuss the problem of intergenerational inequity arising out of internal public
debt. 20

sth-p-econ | 4
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ECONOMICS (PAPER-I)

Time Allowed : Three Hours [Maximurn Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT gquestions divided in two Sections and printed both in HINDI and
in ENGLISH,

Candidate has to atternpt FIVE gquestions in all,

Question Nos. 1 and 5 are compulsery and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section,

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer [QCA) Booklet in the
space provided. No marks will be given [or answers written in a medium other than the
authorized one.

Word hmit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the guestion itself

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even il attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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wrE—A | SECTIOE—A

1. Fr=fefEs § 4 o5 w5 91 390 asm 150 Tmel & difem .

Answer the [ollowing questions in about 150 words each ;

fa}

fb)

fel

()

fel

2. fa)

(&)

(e

# UG Woeiern Jen S R § eds s s b

Does a monopolistically competitive market lead to excess capacity under price
competition?

et v i uiiET ohE W AweR w9 T e o S e i

Explain some of the measures for assessing the monopoly power of a firm.

Hge WHo-UFle UHe HIER &1 WaM w0 g T9igy 7 wenie swehis B v dges foia &
oof dem wR R W G SR e w R

Using the I3-LM model, show how expected deflation may cause equilibrium
output to remain at less than full-employment lewvel.

0 i -wrag ity (RoweH) Serad wedian s s o ofom 87 s aw F B
i difm

Is stagilation a logical outcome of Keynesian orthodoxy? Give reasons for
FOUT answer,

=-wifen gz = 27 e Fifw B s A i § ofeds G oaen z=m-aie g o
HE T T R e #

What is high-powered money? Explain how changes in short-term monetary
policy affect high-powered money and money multiplier.

v Fifer s iy (egmm) ¥ fi-siiren ofze & fm o wds w4 gEt w0
e #F 6 T v

Explain why in a duopoly model of collusion, each firm has an incentive to
cheat the other.

ganign TR arruribmn v 8 ufroodT B & g s gas wd o ven v Fion amd F g
# wr W oawd B

Show how a dominant firm with a competitive [finge can act as a price leader in
an oligopoly market.

Fieet ) famm failt 6 st wgm Fifm ww & segh @ A gfg ol wn w d w0 oF
¥ F famm w waE woee i

Give an outline of Kaldor’s theory of distribution, Also explain the implications
of an increase in the wage level and a reduction in the saving rate on the
distribution of income.

EHFT-P-ElER 4 2

10=5=50

15

15

20



3. (o) WA Feugd giza 4 of avm e e 99 ama & wen 9, 9 e B wEm waiiEe g

In the simple Keynesian model, if consumption and investment are both
functions of income, how would the multiplier be affected? L5

b Tehifim R AERE EEE O SEes (g faard 21 8 fedifie % o
#1 =g Hifa |

What is hysteresis? Explain the impact of hysteresis in Gradualist Monetarist
and Eclectic Keynesian lrameworles, 15

fc) 79 wfad il = R R AW gt T /i aF F e TR S i

How will vou derive the real ageregate demand curve using the Mew Classical
Theory? 20

4. (o) wTE T AEAEA FOEA 2T TR T S HEeT IR S Y OeHeE
What is interest rate targeting? Explain using the concept of Tayler rule. 15
(b F= dafl iferm arel gefl sd=gasn 3 difes Wan TEa-g9ie 1 0% 950 39 8 '
2 = iy

In an epen economy with high capital mobility, meonetary management can be
a successful too] to increase output. Explain. 15

fo) % 9 wEg WM E R ain oo ofd ) e om P s B 39w 3Em wien =nen
e

The burden of tax depends upon the elasticity of demand and supply of a
commodity or service. Explain with suitable examples. 20

wWE—B [/ SECTION—B

5. Traffas # & v we W I e 150 w8 S
Answer the following guestions in about 150 words each - 10=5=50

fa) weE Frard wfE 4, fe e § segem s witde S wm s gerea gy

Under what conditions will devaluation create trade surplus and incresse
output in the simple Koynesian framework?

(b) wfvom e T wEh &7 ofesm qeaies § @ anm S wow gl 6 s 8
What aré shadew prices? Why are these preferred over market prices in
project evaluation?

fc] WG F B0 F HiEw T, 9E WG wie 5 e (AneE) @9te = s 9, o Gl
waly = 9 wenie wgie = % dfte w0 wEy g

In Harrod’s model of growth, il the expected growth rate exceeds the warranted
growth rate, what will be the relation between the actual growth rate and the
expected growth rate?

EGT-R-ECOR/4 3 | P.T.O.



fdd)

fel

by

et

7. fa)

(k)

c}

g %w WR TR SeEem W 30 w4 37 W TR = e e amn fem
wFa Bt

How do externalities lead to market failure? How can this situation bhe
remedied?

Frm fafem @ % simin wg1 s (SR 90E) & Wied & el Te i)
Give an outline of a model of speculative attack under fixed exchange rate.

wiE ) wEE | wy G e ) sge a6 e feerdl o) gemers aem i |
firm wm T B

Explain, with the help of diagram, how Haberler's theory of opportunity cost
is an improvement over the comparative cost theery of Ricardo.

WEE W FE A gEF AE 4 AW wEE ueed aem A g i § W uEieew d
E | AUHE

A guota on import and an equal-import tarifl are equivalent in a competitive
market but not under monopoly. Explain,

2 fammm St T 47 woemsn R o T ¥ owam B 3 B B m Rewowew
AT

What is Doha Development Agenda? Explain how it negotiated TRIPS and
TRIMS among nations.

" 45w e afe] afres ®) 3em W wEw @ i ardsraen w1 waeie il
HatE F 3R W w wE ¥ T

Development of human capital may lead to constant returns and propel an
economy to self-sustaining economic growth. Explain.

FTed il dETE § AW AENEms § W S W e e f ) T e F e i
Tfem aw fawmeia 300 § wm ameedt 6 yafel w ofeern = A w0 e
T goda # owdk dife

Kuznets hypothesis predicts decline in income inequalities in the long run. In

recent decades do trends in income inequalities in developed and developing
economies support this hypothesis? Give reasons for your answer.

am = st g % ww anfds fEw % el gie & iew w1 vl fif @ oerm W
Uo 3o ¥A I 1 MErEAT #7

Examine Arthur Lewis model of economic development with unlimited supplies
of labour. What is A. K. Sen's critique of that approach?

EGT-P-ECOR/4 4
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8. (a) wERY T fEm wwn afls G A 9w 3 7 B ofed oot oo A R

Explain why the market and the State have complementary roles in economic
development, 15

(b} TaFmmi| s 8 ordm sids wfafaly feg gen vl e omm wo@ 37

How does rural economic activity create environmental degradation in
developing economies? 15

(c) somewE wataiia gt & A & o s Se-wa W@ Aot genihg

What policies would wyou suggest to combat negative environmental
externalities? 20

ERY-p-ECOR /4 5 B55—540



‘CS(Miin)Emm,MQ
ey (Y9F-uF-1)
97 : i\ gue wftrpan ¥ : 250
WY -uR et g srgEw
(I A & @ Ffafan fée A Fon aauHigEs 13)

0 e U & W 9 wvel A fawifem & =R w ameh 9 4 s §)

IAfiEER I FA UE TE F IW A F

T T 1 3R 5 fard § aon arht wet § ¥ IE @ve ¥ FH-9-FH U T R 4 T % S A

% /97 % e figa i 3% wme R o #)

W % I I wiitra wreaw # for@ s e, S sga oo waw-w § R e R, oin 5@ wem = owe
IPE TH-Hg-IW (Fo Hio To) Y & yays W Ffde wm w frm s =nfaw) wiitpa mem 3 sifafer o=
fordt mem o for@ T I W HE e AE fe)

v F wee-dim, wEf fafafde ?, +1 e e s ey

T /ferrdiamw, el aeavEs® B, W A IW 3 F fog Ry owm w @ s w/em R

T % I Y 0T HEGER h SCh | T §9 @ Ry e gt F s S oft ara & smoft afe @ e A
T | YH-HE-IW I § @ret 91 T FKE yE war 9B & W @ QUia: w4

ECONOMICS (PAPER-I)

SDF-U-ECON

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/Illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself. '

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A / SECTION—A

1. frfafas & & v&s w7 F IR @ 150 wsa1 7 S

Answer the following questions in about 150 words each : 10x5=50

(a) wieeqyl % F@la &P oM Cy) = y2 +1 8, F&T y I 8| wfoeim gfd o =geam fifsg
S zaitee 6 R 9% e e 34 2
Under competition, the cost function is given as C(y) = y2 +1, where y is output.
Derive the inverse supply curve and show how the supply curve looks like.

(b) TSR 9K % A1 PH-T1 F Figa fave ) FR F Fuifa w=@ 27

What determines the degree of price discrimination under monopoly market?

(c) vETa el ® #=9 Fa # CFwEa e R vER 1ee = 27

How does ‘carbon trading’ help in reducing environment degradation?

(d) FoTAodiedto TR HHE Tsha Guwih 1 UReweH frm wabr foren smen 27 @ fafim weeaet 1
v a6t o e fafy & st 27
How is Human Development Index calculated by UNDP? Can there be a better
method of assigning weights to various indicators?

(e) =igu f5 e Higardl died #, W N Tt =59 § qUa & fowar @ we9 wyfea a5z WA
& 3eqa B 21

Show that in a simple Keynesian model, equal expansion in tax and
government expenditure does not always lead to balanced budget theorem.

2. (a) ‘HEE hH T gaEl F Afawie 6 ot A S 2 favewn Hif)

‘Tragedy of the commons’ leads to over-exploitation of resources. Analyze. 15

(b) U srfeee % foru FreferRaa e foan sman 2 -

39 e, C=250+0-5 (Y - T)-500r

& %, =250 -500r

arEfa g1 9 %o, L / P =0-5Y -500r

o g1 9fd, M = 7650

#ima ', P=17

W=T=8E0=g =G = 200

T8l Y = aredfas 3@, r = 9rated =W K, L = FEa g3 9, P = $iFa W)

SDF-U-ECON/4 2



(i) IS 3R LM 3l % fore wefismor g v ofi v wd r 1 & Ferferg)

(i) H51 9 e % foe o wigen w1 Aif ok 36 S1e 3R g gfd # aRedd 510
T A, @ Ieare # gftad 1 afeen Hifs)
The following data are given for an economy :
Consumption function, C=250+0-5(Y -T)-500r
Investment function, I =250 -500r
Real money demand function, L /P =0-5Y —500r
Nominal money supply, M = 7650
Price level, P=17
Tax = T = Government expenditure = G = 200
Here Y = Real income, r = Real rate of interest, L = Nominal money
demand, P = Price level.
i) Find the equations for IS and LM curves, and solve for Y and r.

i) Find out the multiplier formula for money supply change and then
calculate the change in output if money supply changes by 510. 7+8=15

(c) Tarw =R w fgam, fawmstia 2ni % fowm & fFa TR 9rem = w6 &7

How can controls on foreign trade contribute to the development of developing
countries? 20

3. (a) v oAl W R ARG frn s R, 7w R At R g T om g 9% I I w4 A
I 3R wfereeme g Y spfiv e @l R ) @0 ot wewa ®7

The role of income and substitution effect is crucial in producing backward
bending labour supply curve when a tax is imposed on wages. Do you agree? 15

(b) o st fereferan % e ¥, 9w Rt w eEnsi—uE Frad o el %
731 9fd § 3f& & Sfodiodio W BN At yE | A H wWE A
In case of perfect capital mobility, explain the difference of the impact of

an increase in money supply on GDP under two alternative exchange rate
regimes—one fixed and the other flexible. 15

(c) o sferafiran SR it ge § iR Tfdfan 9 SER & Seuse SR dEe aE1
§ aresran R aIiorE gfE ¥ AT gal W o fa=m v i)
Reflect on the inefficiency and socially undesirable aspects of monopolistic

competition market situation vis-a-vis the perfect competition, both in the
short and in the long run. 20

SDF-U-ECON/4 3 [ P.T.0.



4. (a) T-afwr dfea # gl A #=n gwen AR ? 3R 7 o fit wmen | R yER fim
Bt 87

What is the follower’s problem in a duopoly model and how does it differ from
the leader’s problem?

(b) I AT -l arger, Wi snufe g % & § gereeel ®9 8 S8 = oged 27

Can public-private partnership function effectively in the area of physical
infrastructure?

(¢ T HA-8 feem §, v w enurfa & 78 = et o fmi e s 2, g
forifel @ geoe w9 4 fim df 77

What are the features based on which the new trade theories are built that are
distinctly different from the old theories?

@Wve—B /| SECTION—B

5. Ty=fafiaa § @ veis we= &1 I T 150 wiser 3§ s

15

15

20

Answer the following questions in about 150 words each : 10x5=50

(@) T R 5 IR g&F W F T ga A swEd f SR wmy-@-ay 95 F g
ATEYIF TN o F HIeTq T SR Y T, A G O T FEF R TER W g8

Explain how money multiplier will be affected if there happens to be partial
hoarding by public in each round as well as excess cash reserve holding by
banks over the minimum required.

(b) T wrEEl @ heha ) i fEd #) R 6 Red o R’ ww s 87 e i)

In what sense is Friedman’s quantity theory said to be a ‘restatement’ of
Fisher’s theory? Explain.

() W3 m faem i w0 & g FF-FF A TFEE B TgE F g8me

What criteria will have to be satisfied to obtain a Pareto efficient allocation?

(d) T ST R FR T R, S s i daa B F = §, A g dEd of
¥, S 39 Feudiemridl & v =) g2 3 # | favewo fifs)

Automatic stabilizers are supposed to mitigate cyclical fluctuations, but there
exist limitations which dampen the effect of these stabilizers. Analyze.

(e) St wufy-ardumeia if woa & gma F-Fn T {7 == Fikm)

What are the obstacles to international macro-economic policy coordination?
Discuss.

SDF-U-ECON/4 4



(b)

(c)

(b)

(c)

(b)

(c)

Hrfell Hger, aTaw dged | R TR fim 87

How is the Marshallian equilibrium different from Walrasian equilibrium?

Hafy Hiedl ¥ 3 e Afme | == fifw, fd sgaum o fowm qafae
T B B

Discuss the essential features of the growth models which incorporate research
and development.

Tl TOR F 3% 3 FoEE F G UREdd & e F e TE W W@ E | B
FaARe |

In the contemporary world, many countries are not following Kuznets’ pattern
of structural change. Give reasons.

HFERTHF FTaH JEF 1 Geheqd] fFU TR Fadt o2 39 W AL & 7 6 91 i W we
#ifsT)

In what way does the concept of a positive optimal tariff apply to only large
countries and not to small countries? Explain.

T3 % forg Figardt wn, e H Feard P H et dEerned § A T R IR Q@
FC TqE ifse)

Keynesian demand for money is one of the key concepts of Keynesian theory of
unemployment. Illustrate.

w1 aguga e, goReh d9fe & Stya Fi fawa w @wa 87 A9 IW H 94 A FW0 A
i)

Can multinational investment defeat the objective of inclusive growth? Give
reasons for your answer.

Az Afa, sevwra #§ of, frg wno Feea @ 9 27 T At

What makes monetary policy ineffective even in the short run? Explain.

IR GIfg-319e 71 Fgha-Flus B geha ¥ enfya i 6 gf @ e i)
Trade can be growth-promoting or growth-inhibiting. Argue in terms of the
established theories.

F T a9 fakerar % F-F0 FRO B WEH AORRAA 9! dln B TR TER FH R
Tl 87

What are the causes of market failure in agriculture? How may government
intervention mitigate this?

* kK

15

20

15

15

20

15

20

15
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C8 (Main) Exam, 2020
URC-U-ECON
T (WvH-Us-1)

ARG : o g Afeham 37 @ 250
TH-9 wreeft v seRw
(m%ﬁ%uﬁﬁw%ﬁgaﬁisﬁaﬁmmwmﬁmq%) :

T A 7§ S D @S § R § qwr ReR wE ot 91§ WA X

wQenefl B Fa uiw g F Iw A

W e 1eﬂht5aﬁaﬁ%waﬁﬁwﬁﬁﬂmm@mﬁ-wwuﬂw?ﬁwm%waﬁm
TAF TH/90 % e Pra siw 39 e Re o §

uﬁ%wwmmmﬁﬁl@aﬁaﬂ%q,ﬁmm?&@mm-ﬁﬁﬁmw%, 3R 39 WTH %1 WE
3@ TH-HE-IW (Fo Ho Qo)gﬁ%ﬁm%wmﬁﬁvwmmmm|w&gﬁw%aﬁﬂ?ﬁm
Treft mrem 8 for@ e IR W W of T e

T B w-d, wwl At R, W s fen s i

m/ﬁmﬁw,aﬁa&ﬁﬁ,m%mﬁw%ﬁ%mﬁﬁewmiﬁWm/ém%l

T % Sol R TR FHHGER B IR | AR e TR, D3 F I ) OET B e S T I i R

T R WE-HE-IW YR A @l Ser gen - 3uF oW B Wy w9 A F GE S
ECONOMICS (PAPER-I])

Time Allowed : Three Hours—’ Maximum Marks : 2501

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in.sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left.
blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A / SECTION—A

1. Fr=fifaa ys I &1 ST AT 150 Tl | AN

Answer the following questions in about 150 words each : 10x5=50
() =ETEE R Fh I @GR TR A B sl ¥ TE a1 A Y wged @ FR i
Bt 1

Explain how equilibrium rate of interest and income are determined with the
interaction of both product and money market.

(b) TG gE A 5 W@Wﬁm%w—wmﬁuﬁml
Distinguish between post-Keynesian approaches to horizontalist and
structuralist theory of endogenous money supply.

(0 el danem i % sdere § T e 3R e S, e S

Explain how renewable resources will play a role in future economics.

(d) @wﬁmﬁmmm%mwmﬁmlm-ﬁwﬁaqmﬁﬁﬁ
Feam iR &% % wr AR Fre Fedl i B At

Mention the classification of assets held by a commercial bank. Discuss the
problems faced by commercial bank due to rise in NPAs.

(e) T Rrar ¥ v A frela % et e frgr i same Hifvm)
Explain Myrdal’s cumulative causation theory as the theory for development.

2. (a) AR o w0 S 87 weRia FRE B seafEr F o Hiew IuH IR W H T
oy Sma &1

What is conjectural variation? Show how some models of oligopoly are derived
on the basis of it. 15

(b) weRfa A f5 3R @ T w Faba w3 § wreg AfEE @ aew it Ao
Bt B

Show that systematic monetary and fiscal policies are ineffective in controlling
output and price level. - 15

(€ () SRR iy ) st w1 s 87 w0 Am aea € R el o ewfoa g .
??
(i) seRta Hifkr fF AR My e goa A 9@ 3, @ 3ha T aeh i gEfe siem-wr )

() What makes technical progress endogenous? Do you think that
technology is a ‘non-rival’ good?

(i) Show that if the research becomes more successful, the growth rate
will increase and hence the standard of living. 20
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3. (o) U i fr T am fRR g @rmel s C W C,, MR C >C,, ol @ v o
TSR B | T IR F 98 Fger H1 87 9r YRl wgem @ fhe weR R 27

Suppose that we have only two firms in the market with constant marginal
costs of C; and C, respectively such that C; >C,. What is the Bertrand
equilibrium in this market? How is it different from the competitive
equilibrium? . 8+7=15

(b) “‘a'l’maﬁﬁsﬁuéaaﬁaqﬁﬁ?ﬁ%l”wmm%?%aimaﬁm%mﬁéﬁgm
IR & W Hifm)

“Even green energy is not always green.” Do you agree? Illustrate your answer
taking biofuels as an example. 15

(c) et T A # Frefifad s W st Ruu & ¢

WEFEA =9 = 300

e fraw = 200
3% fafa = 50
@R & = 250
AR R = 01
= 39w w9l = 0-5

(i) 9 AM@ (Y) 1500 % SR B, 3P (C) 600 | WM™ 39907 ¥ &t B

() A dhgEl—admen & smR f R @ R § Affe fla agen @l
(W Yy, A Yy,,) ¥Y T Hifi)

(ifi) 3M9H TR (i) T I Yy, F AR TR areht sfemaen § wgen Frla @ # on 9@ 1w
Fafdt 7 uftad ¥g 5@ ) afads F vfemor w@ @¥a SF1 1 S

[oRmEl & 000 #g ¥ &, Tywd: 9 W wd Wo Io Yo H 3yl |

You are given the data on the following variables in an economy :

Government spending = 300
Planned investment = 200
Net exports = 50
Autonomous taxes = 250
Income-tax rate = 0-1

Marginal propensity to consume = 0-5
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(i) Consumption (C) is 600, when income (Y) is equal to 1500. Solve for
autonomous consumption.

(i) Solve for the equilibrium levels of output denoted (respectively by Yy,
and Y,,,) in the two scenarios—presence and absence of income tax in
the economy.

(iii) Solve for the change in net exports that would bring the equilibrium
output level in the economy with the income tax to the level of Y,

that you found in (ii). Specify both the magnitude and sign of the
change.

[ Figures are in ¥ 000 crore, obviously except tax rate and MPC] 20

4. (o) IS W AN FB Fraia A H iE gEEa (FETRE) ToH WA 1 T e <9 5g
Frafa waifreh & Frafafas et # we w0 % fag gf sfeadd % sl @ eifis agem
Hisd %1 ST Hifv

() & Fia aelReht F S yE
(i) WERER ¥ -8 TYE e I FH-A1 fawa A @ R?

Many countries subsidize some of their export industries. Use a partial
equilibrium model under perfect competition to illustrate the following effects
of an export subsidy for a large country :

(i) Welfare effects of an export subsidy

(i) Which group is winning and which is losing from the subsidy? 8+7=15

(b) TEA ™ | @ W a1 aaq W Fruffa =3 ¥g Feer F faaw R ) 989 § ==
S| HeeR & T (Aledt) Fit IBs hi F=ra1 H e Fivg)

Briefly state the Kaldor’s theory of distribution in determining the share of
profit and the share of wages in national income. Explain the mechanism
behind Kaldor’s model. 15

(c) weRia v fF et vieel 1 fer IR g0 sfmka swasfe o R 3§ &R
F=d B I )

Show how the idea of monopolistic competition becomes intrinsic to the
endogenous growth theory as postulated by Romer. 20
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@Us—B / SECTION—B

5. frafafas v&% w1 =1 39 omnm 150 vzt & difv -

Answer the following questions in about 150 words each : 10x5=50
(a) @ﬁﬁaﬁmmﬁwa@aﬁﬁq,ﬁ%mmﬁmwmﬁm@m
=few)
State Arrow’s five reasonable conditions which a social welfare function must
satisfy.

(b) m@amﬁm%mﬁﬁw@amsﬂm—w%ﬁﬁaa@ﬁm%ﬁ
Hifsg

In the context of international trade theory, discuss in detail the various stages
of the international product life cycle.

(c) mwwmém%mmﬁwaﬁﬁ%ﬁmﬁml

Discuss the issue of compatibility between international trade and
environment sustainability.

(@) & foFmefie s % w=d § s oy WA € f gm AR B g § oo AR
arfereh Tt R7 A9 IW F U F HRo g A

In the context of a developing economy, do you think that fiscal policy is more
effective than monetary policy? Give reasons in support of your answer.

(e) TF W & gl e forepre F wrdfores-Fsht wmdierd 33 weraan s 2, samem St

Explain how public-private partnership helps in the rapid economic
development of a country.

6. (@) TH AfFaEw #, WHR T 93 oy Uh w3 wofem’ g0 ey sdsamen )
WiedTEd HW H 546 R @ R

() ¥ WA g % S @ fEm @ g A vew 2, sdsarn ¥ e W W
U9 B HehaT 87

(i) TS 8 T WA § 75 7% ghE ¥ o 4o =R § fewaret ®) e ww@ 2
witeor s 5 R e @ o 3 swwta ael snisgaen S wevhy wedt 2

In an economy, the government is trying to boost the local economy by a
massive advertisement ‘buy local—local is best’.

(i) Assuming that the public tend to be persuaded by the campaign,
what effect might this have on the economy’s multiplier?

(@) Critics argue that this is unfair and leads to distortions in free trade.
Examine how the economy performs here under flexible exchange rate
system. 8+7=15
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(b)

(c)

(b)

(c)

(b)

AR F ‘g Py Rgra ¥ stge w7 ared X7 AR H ‘@ N IRy § wEE 1S-LM wer!

F 99 HY i afafda #0817

What do you mean by Tobin’s ‘q’ theory of investment? How would you modify

the standard IS-LM functions in the presence of Tobin’s ‘q? 15

s fiR B e s g At yRemh semn oted R FEa ¥
et i 3@ fifw

Explain how Keynesian speculative demand for money is restated in regressive
expectation model. Point out its limitations. 20

st wm R aTeh U e § fowe ¥ e wiea H I AR N g H Hsw
TFega: Yoh-Aa 17 RO sw@Ee)

Describe Lewis model of development in an economy with unlimited supply of
labour. Is Lewis model really capital-driven? Give reasons. 8+7=15

e R afiE speeEer § ufEn § i wiE e 81 A SRR
I9geh ITEI | wE FR|

Explain how trade blocks are important in the process of economic
globalization. Illustrate your answer with suitable examples. 15

2 | weRt C, = g2, C, =22 T R TSR /i wed P =100 - (g; +4g2) A
Tredt Fotdl o 3earea s §) el D B $1-T9 gged | W 2 FEE W deN T
Trger Wl ger & IR FATH AT B ) e i % T8 e i R

Two firms produce homogeneous outputs with cost functions G, = q12, Cy = 2q%
and the inverse market demand function P =100 —(g; +g,). Show that at the

Cournot-Nash equilibrium, firm 2 makes higher profit than at the joint profit
maximizing equilibrium. Explain why this is so. 20

fiva § Rfm 3 ¥ 7w R v PR varE § sfrea ofeddl 6 sren $ifv) @ iad
¥ wg@ Arfesfi st i faa= fifsw)

Explain the recent changes in the trade and investment flows among different
countries in the world. Discuss the major factors that led to these changes. 8+7=15

ol A agell, A IS A TH I HRE AA WH A IJARH Ao feraen #,
‘e’ Sreferaeen W) 3EAHaT ¥ navaw fufadl i g AR
In an economy with only two commodities, two consumers and two producers

with single factor of production, derive the necessary conditions for Pareto
optimality in a ‘perfect’ economy. 15
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(c) Wﬁﬁﬁ%ﬁﬁaaﬁaﬁﬁaﬂmiﬁﬁmﬁuﬁqwﬁ%ﬁaﬁaﬁ@nwmﬁgmﬁ
4 TR A €, =@ Hifvg

Discuss different forms of subsidies. Explain how perverse subsidies are

detrimental to the economy and environment in the long run. 20
L8 & 4
URC-U-ECON/11 7
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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a) |

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)‘

2.(b)

2.(c)

3.(a)

3.(b)

gug ‘A’ SECTION ‘A’
Frafofea vdis U &1 SR s 150 Seat § QST
Answer the following questions in about 150 words each : 10x5=50

g # ferar & wmiferm qan aerife gfewm 6t gaar = @ swrR weita # |
Compare and contrast Marshallian and Walrasian approaches of the stability in
equilibrium. 10
AWAGA RS W[ & JAN axd g quisy f6 i smmar & S
Tt Seamor it feafa ot ook ol ® |

Using generalised Lorenz dominance show that lower inequality represents a higher
social welfare state. 10

Wﬁ@%-ﬂﬁﬂhﬁﬂ%wfﬁammqﬁwﬁﬁq |

Examine the relationship between business cycle and changes in autonomous
expenditure. 10
FT WHRI-3uR foef-fay & 89 & d¢a Ahar © ? ISTe g ao=ATsT |

Does government borrowing always crowd out the private investment ? Illustrate

afe TRER FFU IR H G P T g A Isa%aﬁas@é\mwaaﬁmﬁﬁaﬁ'
THAYT IR T TR AT ST A IS T Al I IRafdd el Rl | 6 AT 6 ?
qHAT |

The slope of the IS schedule will become steeper if the government reduces the rate of
proportional tax but will not change at all if the government reduces
the level of a lump sum tax. True or false ? Explain. 10

FAl & A IATG GATRR Aigd a9 fasidid-3care ganfeer Atew i fraarsi
$t =ren Fif |

Explain the differences between Cournot model of duopoly with similar product and
differentiated product. 15

TG A 5 5 TR 1 ST W § 7 A9 AR AT a5
mw&mmﬁ@?ﬁﬂaﬁaﬁm?ﬂm%? aq%w sfa fag
HITT | :

What type of conjecture is involved in the existence of kinked demand curve ? Do you
think that kinked demand curve model is a price determination model in an oligopoly
market ? Justify your answer. 5+10

e Fifg T Reprel &t sraean # @, 7SR T o1, T % T i hiferr
g form waR fire i axe & wifasiie 2 € |

Examine how profit, wage and rent in Ricardian system move differently with the
movements in level of income. 20

Y %ﬁ%amm (3rrecaTET wHEdHYE) § W, hifFE @ e awu
gffass # Ag I I T |

Show that differences in underlying expectation lead to differences in Keynesian and
classical aggregate supply curve. 15
TRedT-vEe g o1 yam 9Ra gu e S F qer-gfd § gfg aw-) #®it
FT I ol § | 30 AT A FAT-ER & Wi FT GRS T R ?

Apply the theory of liquidity preference to explain why an increase in money supply
lowers the interest rate. What does this explanation assume about the price level ? 15
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3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)
5.(c)

5.(d)

5.(e)

$r e wi B T TR S e § fea v il @ T 2,
et $ifi |

Explain how the weaknesses of Keynesian speculative demand for money have been
identified in Regressive Expectations model. 20

HH-TWR ! Fqfeld A G, WA IO F B 6 G H, TJHE & Ao aodl-
qfef a5h oo Y | s gof BN R 36 T H E@ET FT A ?

Derive short-run aggregate supply curve following Lucas, when expectations are not
realised, assuming that labour market clears. What will be its shape when expectations
are fulfilled ? 10+5

Fea-afth gg1-fd Rgra &1 @8 § avfq fifv | @ fagm & fmio & v
AT &l Fq1S |

Describe high powered theory of money supply in brief. State the assumptions
made in its construction. 8+7

9k foaR @ T FrEse IUR GRT @GR o | Jfg Td A9 €l Aifed - STReEI-
IS T BN ¥ dorae A wq A fRufa Sow ot ® 2 few ofkfeafet #
GHATRU : :

() @& a% sfaen ¥ Br fifma « & a9 | .

(i) TF geil wdemaen # fOR fafma ) @ o foedt t-wifasiiaar & @ |
Do you think that increase in Government spending through borrowing from public
accompanied by fall in required reserve ratio generates recession in the economy ?
Illustrate your answer :

(i) in a closed economy with fixed exchange rate.
(i) in an open economy with fixed exchange rate and without any capital mobility.

20
qus ‘B’ SECTION ¢B’
frrafafaa vs v &1 SO w150 w=at § Sif |

Answer the following questions in about 150 words each : 10x5=50

aﬁaaﬁamwﬁsmwﬁmmﬁm%ﬂﬁaﬁnﬂa%w
g it s Hifsrg |

Explaln Rosenstein-Rodan’s view that economic underdevelopment is the outcome of

a massive coordination failure. 10
ﬁwaﬁmﬁawﬁm&w%ﬂmﬁr&hﬁmmm% et R |
Explain how gender sensitive human development index can be constructed. 10

garfzu T sreeifeq =ame @ war wfia oA & for s wehtamor us gatier @ |
Show that the economic integration is the pre-requisite to establish covered interest
rate parity. 10
areataes fafma o form g & ‘aamoR & s 6 9ai Bt ® 7 5=1 fifs |

Under what condition Real Exchange Rate is synonymous to ‘terms of trade’ ?
Discuss. 10

wmw%m%%mﬁmwﬁmﬁnmﬁmwﬁaﬂaﬁgﬁﬁaﬁm
? 7 = Fifs |

Do you agree whether sustainable use of energy ensures economic sustainability ?
Explain. 10
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6.(2)
6.(b)
6.(c)
7.(a)

\ 7.(b)

7.(¢)

8.(a)

8.(b)

8.(c)

FoeE B A R I U WeR 9 aieer @ g iy | e
(afepean) sreafaefaa <o & ford Wit w @ 7

Evaluate Kuznets’ inverted U shaped curve hypothesis of income distribution. Does it
hold good for less developed countries as well ? 15

1 HFE-gott s 9fyg &1 wRwr ® 2 wqw Ry fF wma-gen -t w5 sgrn
ST FehaT ® |

Does human capital cause economic growth ? Explain how human capital formation
can be enhanced. 15

wE FifvTu for B & wifed afg ) @ SR i saws 9fg R wEE § | A A wRe-
IR gfg wied H fore yoR S=a for @ 2

Explain how Harrod’s warranted rate of growth is similar to Domar’s required rate of
growth. How has Solow improved upon Harrod-Domar’s growth model ? 20

IJuGTh ISR T SUANT IS §Y ARRIGE-ATR # Afia-amw & fagra &t ==
Hiferg |

Discuss the theory of acquired advantage in international trade using suitable
examples. 15

mm%ﬁqﬁﬂs@%ﬁ%ﬁﬁma@rﬂﬁaﬁw ot aegett & geen &
RS aegait i ffierar @ aReféa owxet ® 7 st ffa &6t v @i |

Do you think that movement of the nominal exchange rate of Rupee represents a
corresponding movement of Indian goods vis-a-vis foreign goods ? Explain your
position. 15
FIR-guel & fafr fvmt @ € 7 o SuR-ave safasiia sefeaet & fea
€ ? 3w S| Staa fag Aifvtg |

What are the different categories of trade blocks ? Are trade blocks beneficial to less
developed economies ? Justify your answer. 20

afe WER F9-A @ AN-JF | 9K Fg1 ot & a1 wE FHiforg o awwmes-ge -
aﬁmq&aﬁa&%&muﬁﬁa@ﬁl

*If the government raises taxes on labour income and interest income, explain how

potential GDP and economic growth are affected. 15

s el aftem (TR F R @ A R Sa W ATESTeG-SeT H Suese

W & /T W F@ 9WE BN, S i |

() T s sdaEen feR weigt & @

(i) THh ovg sdomawan URadasiia #eigd & 91g

Examine the effects of providing public service by a private agency at a lesser

price than earlier one on

(i) a closed economy with fixed wages. ‘

(i) a closed economy with flexible wages. 15

W ¥ Rrgra B FHFAT gRI I TS el F97 § 2 quise fR U &, 89 9 Tl geR
H A= ¥ T & o, arforeR-sa i ww-fERRar f gewar & fo

g % figra a1 firg fora 2 |

What is Buchanan’s criticism of Arrow’s theorem ? Show how A. K. Sen proved

Arrow’s theorem without the overall consistency of social choice to avoid the criticism

of Buchanan. 8+12
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gl v g, eiE | o I ¥ o 12w e war 7 & gwfse |
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question nos. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs /illustrations, wherever required, may be drawn/given in the space provided for answering
the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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wUE A
SECTION A

Q1. fr=ffea uas o7 =1 IW & TwT 150 et # Ao

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

THITUHRIcHS AT & A=id Sraiaq g fduifed HAfdfid &wmar &
foem < 989 # s3rE fifs |

Explain briefly Chamberlin’s concept of excess capacity in monopolistic

competition.

TS & qLAd] ARHHE Y & A=q1d aeral e & foar i ==t Hifsw |

Discuss the concept of ‘liquidity trap’ in the liquidity preference model of

interest.

g1 Y T A AT SfEHRIUT a9 Tehg AN R % S THE FR HH-HH
qE?
In demand for money, what are the major differences between

‘transaction approach’ and ‘cash balance approach’ ?

“Gre Hiudt § IEEaT a°T WY YA & AR W SR % HIEE qRaea
fagra it ==t Hfv |

Discuss the Factor Endowment theory of trade in terms of ‘abundance in

factor prices’ and ‘factor abundance’.

T & IER, IrEgiad fasm amfss 3ufema ¢St (SOC) tuanr ‘Seaw
3cqres fspanatt (DPA) & mream & foham 1 wehan 2 | =il hIfTT |

According to Hirschman, unbalanced growth can be through ‘Social
Overhead Capital (SOC) or ‘Direct Productive Activities (DPA).

Discuss.

CRNA-F-ECON 2
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10

10

10

10
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Q2. (a) U g (gdieh) aom 4,
P=100-2Q,MC=10 3R Q=q, +q,
&t P : ST9R 3
Q : T UG/ FHI % 3G HT Fet A
q, 1 q, : 5o FH ot fgdia & i shaar: Seare
MC : #iH 1= AT

" A S HH SR § Aqca et @ qun fgdta e S srgat St R )
g g9 U 39T Scared fAuffa et ® acavenq fogdfi wd st Seea
ffvaa et ® | 91 wAT 1 FgEA IS, YoF a9 AN 19 I |
Consider a duopoly market,

P=100-2Q,MC=10and Q=q, +4q,

where P : Market price
Q : Total output or the sum total of both firms’ output

q, & q, - Firm 1 and Firm 2’s output respectively

MC : Marginal cost

Suppose Firm 1 is the market leader and Firm 2 is the follower.
Firm 1 decides its output first and then Firm 2 takes its output decision.
Find equilibrium output, price and profit of both the firms. 20

(b) A vm v g FEEE e, awzﬁﬁémmmm
BT ? 31 IR ) AT HIT |

Do you think Firm 1 would have had the first mover advantage if it had
gone for the price adjustment ? Explain your answer. 15

() faeret dgem N Huet 3t Tifeds 1 B | 91 19 HEHA & ? IR IW &
aifecs &t wfua hifde |

A competitive equilibrium is both Pareto efficient and equitable. Do you
agree ? Justify your answer. 16
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Q3.

Q4. »

(a)

(b)

(c)

(a)

(b)

(c)

IS I3 9] R & Gger fagati &1 foagea 2 | IS 9% & FW a1 = &
forg  quia 8 2 _

IS curve is the locus of equilibrium points in the commodity market.
What do the points above and below the IS curve signify ? 15

ST TUrh <hl g1 HgT U | hIfTT | shfee TR Sfee #1E & I 3TN
T2l Uk T T <hIS TWT TSl & ? 39 ST % ifued @t wenfia Hifse |

- Compare the deposit multiplier with the money multiplier. Is there any

impact on the money multiplier arising out of massive use of credit and
debit cards ? Justify your answer. 15

ot §oft ftefiern we e fafe o afed gelt srdermeen # Ay Ay H
gurasiiaar H foammr e | 3fe o= feufaat swfefda © @ = f@r
fafr @ d ot 9 Hifa wwmesmeft @t 2 =mEn Hif |

Discuss the effectiveness of the monetary policy in an open economy
with flexible exchange rate and perfect capital mobility. Will this policy

remain effective with fixed exchange rate also, while other things
remain the same ? Explain. 20

HOAY & fgrdl sl S8 | =41 39 99 & foh THH R T 399 A
¥ ATTY HU hl U TeA&T H HH ST BId & ? A I & A H
wrrfuq hifse |

State the canons of taxation. Do you think that direct taxes are less
burdensome than indirect taxes in generating equal amount of tax
revenue ? Justify your answer. 20

wafyes e — wh U (Afe) T, W gEEte S w1 e Sifue
ST |

Give economic rationale for public expenditure on elementary education
— a merit good. : 15

wfafSa den - yrEdt § T SYfd F5k 1 w1 AR BN ? forega e
Hifm |

What will be the shape of the aggregate supply curve in the Classical
and Keynesian models ? Give detailed explanation. _ 15
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wvs B
SECTION B

Q5. Frafafaa T w9 o1 I W 150 Wi | difre
Answer the following questions in about 150 words each : 10x5=50

(a)

(b)

()

(d

(e)

faawor % Freet ET Hi TgE TR w wWE = ge g Hiv fE wl
g # a1 e Fot Iare # AW % o W i war R
Stating major assumptions in the Kaldor model of disbribution,

establish that share of profits in national income depends on the ratio of
investment to total output. 10

T FE S g0 g@ FrEw ¥g orwerd v ufmoners faftr it samen
HIfsT |

Explain the quantitative methods of credit control adopted by the
central bank. 10

Hik dgod favemu & o=wla Yok & IUNNT UE ToRE gWEl H ==
Hif |

Under Partial equilibrium analysis, discuss the consumption and
revenue effects of tariffs. 10

I & i gig Frew # wra A v § qwisy o R oo s
a2 | '

Show that in Domar’s growth model, in equilibrium, path of investment
is exponential. 10

Tl garaEl & ged #§ YA d91 Wit EUNn % 7ey =) it 3@
IeTewit afga 9=t HIRT | T 37 H1 GaE § A T A Suasyar wiasy i
e % 3o & U w9 B Tt } 2 3 IW F ANfvw B wnfia
HfT |

With appropriate examples, discuss the difference between the flow and
the stock concept of renewable resources. Can the availability of one of
these two resources be less for the consumption of future generations ?
Justify your answer. : : 10
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Q6. (a)
(b)
(c)
Q7. (a)
(b)

Tuidd Hgfg X & o9 T we ¥ 2 ¥We & anfhw wafy yrew § ghuw
JEGT h FHER Y = Hf |

What do you mean by the warranted rate of growth ? Explain the knife
edge instability problem in Harrod’s growth model.

3R 39 G VST UET % =i oW i welifa mgfd & dl @ sl
3g@ HIRT a1 ws 37eq fashfim 23w % arla Aed sreferawen & freme ¥g
foranfafy wemsT |

Following Arthur Lewis, briefly state the sources of unlimited supply of
labour and explain the mechanism of development of a dual economy of
a less developed country.

for faepa g=@i® (GDID) wa fom guiftrentor w19 (GEM) # srazat qun fmfor
% YR T 3F=q¥ie HifT |

Distinguish between Gender Development Index (GDI) and Gender
Empowerment Measure (GEM) in terms of their components and
constructions.

vigor i f6 w7 fepret & gy § omrons @w w1 Rigra aad o
JATHS ATTAL BT g =9 Srar @ |

Examine whether in Ricardian model, the theory of comparative
advantage actually becomes a doctrine of comparative costs.

A SAYR TEY & F=ria Sy Afeha (ATemer) o wwrelt 0 & wem
aﬁ‘ﬁzﬁﬁq IHFTFﬁﬁTQ:

o IrTfad I%] j &G 3ifhd TNeh 40% B,

o T i ¥G TYeh o 40% B,

o A ARG i T AN &, j o%g Y A IS AT T 0-5% B |

Fagor 61 gHTEt @ 1 Frafor Hifse qon 3@ g # gwfse e sifea (Atfee)
TY[eh S UG TLEOT I I G THEAWH B |

Distinguish between nominal and effective rates of protection in
Standard Trade Model. Suppose

®* nominal tariff on imported good j is 40%,

o tariff rate on input i is 40%,

® cost share of imported input i in the total cost of production of
commodity j is 0-5%.
- Determine the effective rate of protection and show that in this case
nominal tariff rate is equal to the effective rate of protection.

CRNA-F-ECON ; 6
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(c)

Q8. (a)

(b)

(c)

I et g wfautfed ‘sHtesiom me’ % fagra it samen i |

Illustrate Jagdish Bhagwati’s doctrine of Immiserising Growth’.

SR 3N o W EH TY Feq (3Hers) & i Hi fafey | w@ e
Tuza ¢ T forasfiar 2ot & e sl @i = sgm o siere awa @

R ? I IW F I = Tl A |

State the functions of United Nations Conference on Trade and
Development (UNCTAD). Do you think that UNCTAD has been
successful in extending economic cooperation among the developing
countries ? Justify your answer.

femprasfier 2w 1 YquT hi T I W wH THR hi Tt TgEuh genreEl
% fou fifés @ & ot 38 whouH &9 @ @ @ ¥ ? 39 @@ i fEEm
fafyr @ weftra sn-a=n qued § 2

Why do developing countries rely on specifying a permissible level of
pollution and impose it uniformly across all polluting units of the same
kind ? What are the problems associated with such a control method ?

COP (138 3T% UIEiT) 26 I JT ThadId 3N JEHeAard = 8 2

What are the major achievements and failures of COP (Conference of
Parties) 26 ?
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

2.(b)

2.(c)

Wus ‘A’ SECTION “A’
frrafafaa ws IS 1 IR TR 150 =51 H S

Answer the following questions in about 150 words each : 10x5=50

s fiigrers TRt gRT dwa-frafker # @i it Fea-a & i &R
it |

Examine the role of price elasticity of demand in determining the price set by a
discriminating monopolist. 10

A T HEEIY & A= g & aed #, 99 i R g g A F Yfd w56 e
ST |

Explain the backward bending supply curve of labour as a choice between income
and leisure. 10

whifssa wa Fwtia wmfee sedume A y@ famstt $it smen Sy |

Explain the major differences between classical and Keynesian macroeconomics. 10

ﬁ%ar-ﬁm%whmﬁa-uﬁm—aww af B 7 Tt Ry afasmn =
HFR FAT &, g ol o 3§ e 71 Teca & ?

What is meant by internal rate of return in the theory of investment ? What is its
importance in deciding whether to accept investment project ? 10

mﬁgﬁwﬁmﬁ%mwﬁmﬁmﬁﬁ@ﬁw
TR YA AT FT ST AT ST © ?

Explain why it is considered difficult for open market operations to affect both the
availability and cost of credit at the same time. 10

wiifa w1 WA aRA g FO & GATIHR Hied i ATl HIfAY qUl F@H
A-gger & &9 # fd=a Fifg |

Explain the Cournot model of duopoly using reaction functions and interpret it as a
Nash equilibrium. 20

“quf -, A % wed i % @rg s € |7 38 FEE w9 i |

“Perfect competition is incompatible with increasing returns to scale.” Examine the

statement. 15
FTRIFR % T Uy Hied h AT HT N Ty -diAa it e /=t € |
Describe a model of oligopoly that explains price stickiness. 15
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3.(a)

3.(b)

3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

i weans-ufeednr & sata, Trafia d@ifew A Frorad 2 2 17w sha

Hiee & GRT SUYTh HI I AT HIT |
“Under rational expectation hypothesis, systematic monetary policy is ineffective.”
Explain the above statement using a suitable model. 20

IS-LM @ & 3faid Hifge wd oty it it wsmashieran, Ry 6 sm-dm
R fAsR aRdt ® | gHeATT |

In the IS-LM framework, the effectiveness of monetary and fiscal policies depend
on the interest elasticity of investment. Explain. 15

il Hige & SR, SRISMRI-Gged W6 o3 ¥ qg1 1 G- AT 60 40
wEd ® 7 = Hiforg |

How important is speculative demand for money in achieving unemployment
equilibrium in the Keynesian model ? Discuss. 15

PIAH-ge & Hifssh g & desf 3, “wefamssm’ @ s@aro 6t =
HIT |

Explain the concept of “sterilization” in the context of monetary approach to balance
of payments. 20

sharll SR fesranett % wer aR-wR A R off @ F st § fraRa S €
et i |

Tax burden is distributed between buyers and sellers in the ratio of elasticities of
demand and supply. Explain. : 15

Wieid & Her-uaRamr-fagra & gadam B e fifw | 9 fe e #,
wiafssa qgr-afmmr-fagrea # aRaffa 8 sar & 2 vy |

Discuss Friedman’s restatement of Quantity Theory of Money. Under what
conditions, it reduces to classical Quantity Theory of Money ? Explain. 15

qus ‘B’ SECTION ‘B’
Frafafed vds v @1 SR e 150 et & St

Answer the following questions in about 150 words each : 10x5=50

"R AT ISHAT BHER-Ieo ATed A A ® |7 56 AT o gdEr i |

“Factor intensity reversal is incompatible with Heckscher-Ohlin model.” Examine

this statement. 10
ot =t 1 eagE whifoes w4 gar @ ? |9ETsy |
Why depreciation of a currency is inflationary ? Explain. 10
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5.(c)

5.(d)

5.(¢)

6.(a)

wgaﬁz%qaa@u-aﬁﬁqﬁmmwhwﬁuw%ﬁmw%ﬁﬁma
Fedl § 7 AT AT |

Can Kuznet’s hypothesis of an inverted U-curve be extended to analyse
environmental degradation ? Explain. 10

FoETey T e wada. e veR . @ e fowm A T =4
A E |

Explain how modified HDI is an improved measure of development over HDL
10

At Sel ST e WER wateRa dieviEdr WE W § §enE € ?
FaATE |

How renewable energy use can help attain environmental sustainability ? Explain.
10

T X 1 AOR N 1 AT W2 AR | R0 1 W ofd 9 AT we . P=Q+ 70 T

P=170-Q T v& f% 3w 2 # ofif @ AW w A P=10+Q A P=110-Q¥ |

m%ﬁﬁq%ﬁﬁﬁ%ﬁaﬁaws‘}%wmwéﬁﬁm%lwm

Srea ST 2 F AR A TER B hdt ¥ wea i el | I g B g °

i g, T Wt @ IR QAT

(i) @ AUR $a T g Raed aNd R, Al AEEE o 50 ZhTEAl
arama—ammm%?haﬁx%mqémﬂaﬁwmﬁﬁm
SATAT - A TN Y YA AR, IGH SAcikeh 4T TR AR ATV
Frfog |

(i) AR AT BT & TAT TAA-SAAR HiAd R T XV 10%. Wi 318 &l
mﬁm%a}wmm—mm-aﬁﬁwmﬁm
W R T I | 91 g A i weam # gig Rt € ?

Consider the market for good X for Country 1 and Country 2. The supply and demand

functions for Country 1 are given as P=Q+70 and P= 170 - Q, while that

of Country?2 are given as P=10+Q and P=110-Q. Assume that there are

two countries in the world and trade is balanced. Free trade price is stabilized

in between autarky prices of both the countries. Based on the above information,
answer the following questions :

(i) From the free trade price and zero transportation cost, if the importing
country imposes an import quota of 50 units, determine the quantity of good X
produced and consumed. Calculate the consumer and producer surplus and
protection cost due to import quota.

(i) From the free trade price, assume that the importing country is small and
consider an import tariff of Rs. 10 per unit on good X. Calculate the impact on
consumer surplus, producer surplus and government revenue. Does this policy
increase national welfare ? 20
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6.(b)

6.(c)

7.(a)

7.(b)

y A5

8.(a)

“FaMR 9 ATfashR it gaa wiskar & 99 Ul & 9 W AR TRE B Siar © e
wra Tftmr aur &t qam € 17 e @ Wgo iR |

“A continuous process of innovation and invention would give rise to trade even
between countries with similar factor endowments and tastes.” Examine the
statement. 15

IR =R fagea & a<d 4, e fraeatianEt aar sare fafaya & qea =
wierr hifrg |

Examine the significance of external economies and product variety in the context
of international trade theory. 15

AE-GSit A1 My @ o & sema snfe wa9fy & fake ore € 1 a9f@
FasIia Hafg Aied & WANT @A g SATEAT HINT |

Human capital and components of research and development are determining factors
of economic growth. Explain using appropriate endogenous growth model. 20

QI Hige & e A, fRR-s@e s@yren & e fifsu |

Explain the concept of steady-state in the context of Solow model. 15

ol = &1 @ivm-faga #=1 ® 7 UF §3fg Aied 1 TN 9K §¢ 30 aWasT |

What is the golden rule of capital accumulation ? Explain it using a growth model.
15

e F R-TFdAEvE qaed & fadeT ¥ SO I, g e S9i
(T.21.9.) wa wafaR-wwmEtg Iarg (3.80.9.) # g w=a & T feraen wgeagt
® ? Afc ord waean § dhae AT dEeE o a9 sderee st - arofia
IcTeA & fomg R Tgd T ®, @ St F0 7w fawg W gem 2

How important is rent from extraction of renewable and non-renewable resources
to distinguish between Net Domestic Product (NDP) and Environmentally adjusted
Domestic Product (EDP). Will the distinction be valid if we have an economy
with only renewable resources and the economy reaches the point of maximum
sustainable yield ? 20
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8.(b) “wgfera @ sEqfe wefg-wEifal tE g @ fters @ oafig wE €17
=t iferg |

“Balanced and unbalanced growth strategies are not substitutes but complementary
to each other.” Discuss. 15

8.(c) “Ha-sEwEAT faw &SRO A § o ook T Wi At s@ H fg A @ RV
T FUA H ATArEATCHS GUAG HIT |

“Income inequality is not a cause of concern as long as per capita income is rising.”
Critically examine this statement. 15
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